Secure block from STATE PROJECT NUMBER
A rotation with 16d
: : 6" x 8" x 14" long
127 ?alvan/zed nail \“ / wood blockout
2" 4" 4" 2" Two nested W beam
i e R e ] / rail elements ) NOTE:
= Two nested 1. The rubrail may be shop bent in the last 37%" to
N} i . facilitate installation.
Ay - gl/etr]r?:rgrt'sr ail — Single W beam
< o rail element 2. CENTER drill wood blocks for rubrail located on
. ?v\:‘ ‘ — 17%" dia. — T for rubrail posts 1 through 4. Secure blocks to post 1
N } | o— @’f holes (typ.) N through 3 with M16 carriage bolts.
. © !
- ?v\:‘ ‘ ! ! & 1 ! % R 1:10 or 3. Posts 1, 2, 3, 4 and 6 require an additional hole to
} ®-— N 1 ! s /;[ flatter s attach lower wood blocks and/or the rubrail.
=v N | ' <! - N
\ "E‘ ! N © © 4. Do not bolt nested W beam or rubrail W beam to
\ 1 posts and blocks on posts 1, 2, 3 and 5.
\ " thick steel plate ‘ ! ‘ Bolt blocks directly to posts.
8 ! ‘ ‘ ! ‘ !
SRR —ﬁ | ! "y 8" RN RN 5. Reinforced concrete wall or bridge parapet must be
P | ! o0od post 6" x 8" wood post capable of developing a 59.6 kip pull out strength.
BEARING PLATE ENE Top of ;Vosts _Fl, and 2 N N w o
pavement at - 6"x 8
face of rail : ; wood post
L o o ‘
SECTION A-A SECTION B-B SECTION C-C SECTION D-D
Two nested W beam rail elements Single W beam rail element
Guardrail blocks not shown for clarity
18%" 18%" 18%" 18%" 37%" 37%" 37%" 37%" Standard post
- - -t -t - - -t -t T PO e WOOD BLOCKS
10" FOR RUBRAIL
D SRy POST | THICKNESS 1 | THICKNESS 2
(min.) ’ 2 .
B . . C D @ 61/2 " 6%;"
AR DA % % % Rubrail ®) 53%" 5n
NN . NN ’ ® 4u 35/8 "
S B ’b " @ 25/8u 27/16"
40 - | ® NO BLOCK NO BLOCK
[}
2, B C D ‘ o
(=]
E #7 H.S. hex bolts with bearing plate or PLAN i
g an approved concrete insert anchor assembly.
[a]
3 Pay Limits ‘ Pay Limits ‘ %" dia. hole
5 Terminal 2o 7" Connection to Structure Guardrail System G4 ‘ / 4"
©o .
E' connector 7 » & or #5 x 18" guardrail bolt and recess nut - .
8 T\ ler S with a plain round washer under the bolt =
g a4 j head and a steel washer under the nut. A ~
m ” 3 - ” L ———— [ 1 [ 1 [ 1 — — — — = Q &’
<~ > — 1 = = [ RS
5 \ } ¥ R 3R
NS o I o 2 . . oy o | . . . . - S|~ S|~
2 1 e @ —=c= oL — ob— — oL N Il o ISlo
£ > o o o o .E O .E &
= S Lo = S =) = ~ 2 ~
S ~+ N 3 g - & ! | ! | ! | ! | ! |
S = ~ - o [} =) =)
g Q y > =) o o o !
8 -lle-® - i fo)
5 < L2 S B T o > FRONT TOP
2 © N S S S S
2 y - - - - | I  E— = = ) I I
8 Le L Ler e S o o L o o o o WOOD BLOCK
= o e > s ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' '
E L ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ Rubrail : : : : : : :
: I - - - —— FOR RUBRATL
Reinforced concrete / N N N N e N N N N aEg)gc:Cgf oli)car‘g?/rg in;p(;)rlig‘; (l))lljgd line U.S. DEPARTMENT OF TRANSPORTATION
wall or bridge parapet : FEDERAL HIGHWAY ADMINISTRATION
= ge parap 4\## 4\## ﬁ_\ﬁ ﬁ_\ﬁ ﬁ_\ﬁ ﬁ_\ﬁ ﬁ_\ﬁ ——\— FEDERAL LANDS HIGHWAY
2 | ‘ ‘ ‘ 1 1 1 1 | U.S. CUSTOMARY STANDARD
. 1 2 3 4 5 6 7 8 G4 W-BEAM GUARDRAIL
= | N N CONNECTION TO
o #5 x 10" guardrail bolt and recess nut #5 x 10" guardrail bolt and VERTICAL FACE STRUCTURE
é with a plain round washer under the bolt recess nut with a plain round
5 head and a steel washer under the nut. washer under the bolt head WOOD POSTS
% ””””” STANDARD APPROVED FOR USE --/---- STANDARD
2 ELEVA TION NO SCALE REVISED: 617-25
®™ DRAFT: 9/2013




SHEET

STATE PROJECT NUMBER|
Secure block from
rotation with 16d
. ; 150 x 200 x 360 long
B 300 _ -f"a/ vanized nail N‘ / wood blockout
50 100 , 100 50 Two nested W beam
-~ > i rail elements ) NOTE:
] Two nested R 1. The rubrail may be shop bent in the last 950 mm to
Q 5 W beam rail 1 Single W beam facilitate installation.
V _ - / t .
R ® _ elements rail element 2. CENTER dfrill wood blocks for rubrail located on
& ‘ — 28 mm dia. for rubrail o posts 1 through 4. Secure blocks to post 1
S } | o— @'Z holes (typ.) - i through 3 with M16 carriage bolts.
o™
) ‘ | | . 3 § 1 1:10 or 3. Posts 1, 2, 3, 4 and 6 require an additional hole to
‘ @— e T "] 1 ! s flatter s attach lower wood blocks and/or the rubrail.
o N ) 1 ! ] ®
™ | B e ™ ™ . 4. Do not bolt nested W beam or rubrail W beam to
. posts and blocks on posts 1, 2, 3 and 5.
\ 16 thick steel piate -5 § ' f - Bolt blocks directly to posts.
L T 1 / 200 x 200 4\# 4\% 5. Reinforced concrete wall or bridge parapet must be
s A 1 ‘ d t 150 x 200 wood post capable of developing a 265 kN pull out strength.
BEARING PLATE fa Top of 7 bostsiandz | T N
pavement at | ‘ : 150 c)l( 20({_ 6. Furnish hardware in the metric sizes shown.
face of rail ; wood pos Equivalent US Customary sizes may be used when
) \ metric sizes are unavailable.
7. Dimensions without units are millimeters.
SECTION A-A SECTION B-B SECTION C-C SECTION D-D
Two nested W beam rail elements Single W beam rail element
Guardrail blocks not shown for clarity
475 475 475 475 950 950 950 950 Standard post
| | | ‘ | ‘ e WOOD BLOCKS
FOR RUBRAIL
|‘>[) POST | THICKNESS 1 | THICKNESS 2
@ 164 158
@ 131 125
©) 929 93
@ 67 61
‘X ® NO BLOCK NO BLOCK
[0 | 2
é’ M22 H.S. hex bolts with bearing plate or PLAN
I:(‘_ an approved concrete insert anchor assembly.
8 Pay Limits ‘ Pay Limits ‘ 20 dia. hole
§ Terminal 75 180 Connection to Structure Guardrail System G4 ( / 100
SI connector Biog 5 or M16 x 460 guardrail bolt and recess nut = >
B T\ lep 1 with a plain round washer under the bolt o
§ s s N head and a steel washer under the nut. S - ~
S ‘ ° 3 - ° - ° [ ] [ ] — — — — — w0 i) 7)) &
[ N | [=) | [=) "F : ; ; : : : S (=Y |l n|Q
- 42 == — St o g3 g8
g e == — o~ o] % 3l 3l
é (@) f " \ @ =3 S S S E % .E v
E 0 . A B - = : T = =) I k { : ! =) [=)
: B - 1® g Yy
8 oy i D 1= ° o =)=
! st | -'le CR— T =l v [= FRONT TOP
Qi — > S =) =) S
2z - - - G I | E—— =1 =1 =1 Y I I
% ‘AAA ;A;k;A;‘;A;‘;: ! ! ! ! ! ! . . L . . | | 1 1 1 1 WOODBLOCK
z R S L 1 1 1 1 1 1 1 1 Rubrail 1 1 1 1 1 1 1
E 1 1 1 1 1 1 1 1 1 1 1 1 1 1 N\ FOR RUBRAIL
G Reinforced concrete / o IR N I N el I N el RN Ettj%e of /;ave;/ment Or}'gr(t))llmd line
wall or bridge parapet at face of rail as applicable. Us. DEPARTMENT OF TRANSPORTATION
ge parap g\—ﬁ g\* ﬁ% ﬁ% ﬁ_Nﬁ ﬁ% ﬁ_\ﬁ N FEDERAL HIGHWAY ADMINISTRATION
= ‘ ! ‘ ! ! ‘ ! : ‘ ‘ ‘ ‘ ‘ ‘ ! ‘ FEDERAL LANDS HIGHWAY
™ : | : . | 1 METRIC STANDARD
$ 1 2 3 o4 5 6 L7 © 8 .
5 1 N G4 W-BEAM GUARDRAIL
= M16 x 255 guardrail bolt and recess nut M16 x 255 guardrail bolt and CONNECTIONTO
5 with a plain round washer under the bolt recess nut with a plain round VERTICAL FACE STRUCTURE
2 head and a steel washer under the nut. washer under the bolt head
s L L WOOD POSTS
§ ELEVATION NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
a REVIS%;H: 9/2013 M617-25




STATE PROJECT NomeTe
] : 6" x 8" x 14" long
127 : / routed wood blockout
" " " M AN Two nested W beam
et 20 R\ » rail elements : NOTE:
=i Two nested :tu : : IR [ 1. E,c?lig?eraif;sgié ggnshop bent in the last 37%" to
P - gl/etr]r?:rgrt'sr ail Single W beam X ’
= . rail element ; 2. Offset drill wood blocks for rubrail to sit squarely on
. ?}:‘ ‘ — 17%" dia. — for rubrail s the post flange posts 1 through 4. Secure blocks
N ‘ ! o— @’f holes (typ.) N 8 to post 1 through 3 with #5 carriage bolts.
. © i
T ‘ ! ! <! i " 1:10 or 3. Posts 1, 2, 3, 4 and 6 require an additional hole to
™ ‘ N i
} @— N ) " S flatter > attach lower wood blocks and/or the rubrail.
S N i " R 3 v
N - . Do not bolt neste eam or rubrai eam to
X | B © © 4. Do not bolt nested W b brail W beam t
\ . i ; . posts and blocks on posts 1, 2, 3 and 5.
\ " ' ' . ; . Bolt blocks directly to posts.
%" thick steel plate . i ; " ; ' ;
Lo _ﬁ f w8 x 13 [N LI N 5. Reint;g)/rcer);c/ gonc/ret(_e wa//5%r grliqge plc;z'raptettmustt ft;e
s , ! steel post capable of developing a 59.6 kip pull out strength.
BEARING PLATE e Topof }} " Post fond 2 w W6 x 9 steel post w W6 x 9
pavement a " : , , . i
face of rail : :; Lo : steel post
SECTION A-A oo v y o
SECTION B-B SECTION C-C SECTION D-D
Two nested W beam rail elements ‘ Single W beam rail element
Guardrail blocks not shown for clarity ‘
18%" 18%" 18%" 18%" 37%" 37%" 37%" 37%" Standard post
= - —-t= —-t= - —-= T —-t= T PO e WOOD BLOCKS
10" #5 carriage bolt. FOR RUBRAIL
Cmin.) |_>55 |—>é Field drill hole |_>D POST | THICKNESS 1 | THICKNESS 2
in flange. @ 6%" 6%"
.. % % % Rubrail T T T @ 5%" X
oL | | | ) 4" %"
i ‘b " . ’b " g \/, @ 2%" 276"
o | ® NO BLOCK NO BLOCK
g L >
p 8 s [0 3/447 F/;’
51 - ]
E #7 x 14 H.S. hex bolts with bearing plate or PLAN i
g an approved concrete insert anchor assembly.
a "o
% Pay Limits ‘ Pay Limits ‘ %" dia. holes
E Terminal Z: Zn Connection to Structure Guardrail System G4 ‘ /
E' connector /76,1‘ '50/~ #5 x 10" guardrail bolt and recess nut At post 7 backup plate
3 T\ Yer = with a plain round washer under the bolt bolted to block only N @/
E w s a0 j head and a steel washer under the nut. A - - ~
0 c. C RTEN — — — [ ] — — [ ma— [0} Q %)) &’
® > i = "r < AN 2 — 0n|Q 0| Q
3 s = S ;- sy & S 2|8 g2
é i e @ == — oy el ot N S g S 3
o = f‘ - = = = £ %] < %
g : ;\A R — T — T T T -t i t f t f =~ =
d &7k - a ; '
'g - e ° @ = ; ; |b|
s 5 ! .8 = B ‘ ° ° FRONT TOP
é L B - —C— I i i i | y 1 = =
g Le L L e o o o o l o o o o WOOD BLOCK
E P e, o o o o Rubrail o o L FOR RUBRAIL
Reinforced concrete / N N N NN NN RN RN aEg)gc:Cgf oli)car‘g?/rg in;p(;)rlig‘; (l))lljgd line U.S. DEPARTMENT OF TRANSPORTATION
wall or bridge parapet N\ N N\ N\ N N N : FEDERAL HIGHWAY ADMINISTRATION
§ ge parap Do I N FEDERAL LANDS HIGHWAY
e Lo Lo Lo Lo Lo Lo o : U.S. CUSTOMARY STANDARD
- 1 2, '3 4, 5, 6 7 ¥: G4 W-BEAM GUARDRAIL
g - - NNECTION T
o #5 x 2" guardrail bolt and recess nut VE RTICCOAL FACCE (S)TRU%TU RE
8 with a plain round washer under the bolt
5 head and a steel washer under the nut. STEEL POSTS
% STANDARD APPROVED FOR USE --/---- STANDARD
2 ELEVATION NO SCALE REVISED: 617-26
®™ DRAFT: 9/2013




SHEET

STATE PROJECT NUMBER|
L 150 x 200 x 360 long
" routed wood blockout
300 [
L Two nested W beam
29,100,100, 20 % [ ; rail elements ) b NOTE:
I Two nested 3 N\ NN 1. The rubrail may be shop bent in the last 950 mm to
R T W beam rail 0 BN Single W beam B\ facilitate installation.
! — T / t: e - ! 2 ;
Q‘ @ ) LT elements B\ 2 . rail element \ 2. Offset drill wood blocks for rubrail to sit squarely on
& ‘ — 28 mm dia. : ~ — 2 for rubrail o the post flange posts 1 through 4. Secure blocks
N } \ o @'Z holes (typ.) " 0 Qf to post 1 through 3 with M16 carriage bolts.
N I s
8 | ! ! R 2 § . 1S - TS 1:10 or 3. Posts 1, 2, 3, 4 and 6 require an additional hole to
} @®— s ™ % . ’ g A/QZ> flatter % attach lower wood blocks and/or the rubrail.
[« - un ) ’ [¢e] [oe]
v Dy | B s — ™ — ™ = 4. Do not bolt nested W beam or rubrail W beam to
R ! i ; . posts and blocks on posts 1, 2, 3 and 5.
\ B § " ) . Bolt blocks directly to posts.
16 thick steel plate ‘ ‘ . . . ’ ! ' '
SR T i ; W200 x 19 RN e 5. Reim;;)/rcezf:_' Cri:onclrete Wallzor blgidge /;/)arapet musg7 be
A i , steel post capable of developing a 265 kN pull out strength.
BEARING PLATE ’AA ) A’Ab ) Top of p Post 1pand2 A W150 x 14 steel post R W150 x 14
pavement at . . / : / steel post 6. Furnish hardware in the metric sizes shown.
face of rail Equivalent US Customary sizes may be used
SECTION A-A Y v when metric sizes are unavailable.
7. Dimensions without units are millimeters.
SECTION B-B SECTION C-C SECTION D-D
Two nested W beam rail elements ‘ Single W beam rail element
Guardrail blocks not shown for clarity ‘
475 475 475 475 950 950 950 950 Standard post
| | | | e WOOD BLOCKS
250 M16 carriage bolt. FOR RUBRAIL
Tmin.) |->é |—>é Field drill hole |_>D POST | THICKNESS 1 | THICKNESS 2
g in flange. @ 164 158
E % % % Rubrail ©) 131 125
. al ©) 99 93
b b .
IS N- [©) 67 61
N L ‘X ® NO BLOCK NO BLOCK
g B c D ‘ 20 .~ 20
é’ M22 x 350 H.S. hex bolts with bearing plate or PLAN
I:(‘_ an approved concrete insert anchor assembly.
8 Pay Limits ‘ Pay Limits ‘ 20 dia. holes
& Terminal - 180 Connection to Structure Guardrail System G4 ( f 100
~ .
SI connector zn '50/~ M16 x 255 guardrail bolt and recess nut t post 7 backup plate T—T
B T\ lep 1 with a plain round washer under the bolt bolted to block only o @/
§ s s N head and a steel washer under the nut. S — - MR PN
g . — — w2 [ g2
9 D> | o L (=) "F — - — o\ - - i i S o o 0| Q
B . @ o } o i i i N2 o i i o g& o o gfl\“
2 e o= —=— — - o — — o X Slg [0 gy
& o L o-\@ S— - S [ &S
S| %) e o S———— e | me—) | me—) ne— | me—) - o
5 27 . e — — — vy
g w| oy i D |- — for — =
! st | -'le CR— I Y = FRONT TOP
a . S =) =)
2! - R - G I — = = = Y 7 [ [
H LeLr e e o o o o L o o o WOOD BLOCK
SUENCENCENCENIN = = = Rubrail = N FOR RUBRAIL
5 Reinforced concrete / N N N Edge of pavement or ground line
wall or bridge parapet RN - N N e N - at face of rail as applicable. Us. DEPARTMENT OF TRANSPORTATION
R R R N FEDERAL HIGHWAY ADMINISTRATION
z | | o FEDERAL LANDS HIGHWAY
g L e . 4 . . . ! METRIC STANDARD
A 11 2 '3 4 5 6 7 '8
o L L G4 W-BEAM GUARDRAIL
= M16 x 50 guardrail bolt and recess nut CONNECTIONTO
5 with a plain round washer under the bolt VERTICAL FACE STRUCTURE
2 head and a steel washer under the nut.
g STEEL POSTS
§ ELEVA TION NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
. e o M617-26




SHEET
Secure block from STATE PROJECT NUMBER
Steel spacer tube rotation with 16d
" Tube flush i i
12 W/ barrier See Standard 617-29 galvanized nail
22 ) Concrete barrier 7" x 4" block. ;"‘I_’Ioe’;:;t:gtsw beam N
Concrete barrier ﬂ_ \ See Standard 617-29 NOTE:
;ﬁ — ] 5o g?)rsiglgkgﬁis;l al-f ~ 1. Posts 1 through 5 require an additional hole to
@®— i - \ attach lower wood blocks and/or rubrail.
= i 1 8" ia. Ce Y i i
s ”},‘N | holes (typ.) s AT ‘ Single bent plate rail X 2. Center drill wood blocks for rubrail located on
SN o— @’i | ‘ element for rubrail &N posts 1 through 4. Secure blocks to posts 2 and 4.
S 5 ! | | ce H post 1 thru post 4 N Secure rubrail and blocks to posts 1, 3, and 5
= | . b | : \\ using %" carriage bolts.
N . B
;\v CT) - E,\OI ” - ,A; Erg ,%léltfer‘?r ) 3. Do not bolt W beam to posts and blocks at
N b posts 2 and 4.
[ oA .
\ AT _ - - 1 | 1 | 4. Reinforced concrete wall or bridge parapet must be
%" thick steel plate ) Do 1 N\ capable of developing a 59.6 kip pull out strength.
| -, : ! ‘ ! 6" x 8" x
N N 6'-0" post.
Posts 3 thru 9
BEARING PLATE Wood blockout S 8" x 8" x 7'-6" post. TN
See Standard 617-29 ! / Post 1 and 2 |
#7 x 13%" H.S. hex bolts with SECTION A-A SECTION B-B SECTION C-C SECTION D-D
bearing plate or an approved
Concrete insert anchor assembly.
Two nested W beam rail elements ‘ Single W beam rail element
17%" Guardrail blocks not shown for clarity
12" 18%" ‘ 18%" ‘ 18%" ‘ 18%" 37%" ‘ 37%" ‘ 37%" ‘ 37%" _ Standard post
‘ \ ‘ ‘ ‘ section ‘
B C Bent plate rubrail D 6" x 8
|—>- See Standard 617-29 |—>- "x 8"
fh & £ f
e ‘ K
—e K B % |
'L_)‘ " ’b" ———— o o f::::::::_,,—::::::::::::::: ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | ,,,,,,,, . ‘X
3 > Steel spacer tube > > >
é‘ A See Standard 617-29 B C PLAN D
L:(' ~ Pay Limits Connection to Structure __ Pay Limits Guardrail
g 23" 57" 6" System G4
"I:‘ 831/2"
~ | -
b . Z- " :
5 T / 2 #5 x 18" guardrail bolt and recess nut
B cﬁ;ﬁ’é@for ’Mf with a rectangular plate washer under the Back-up plate
© Q =
el _ _ — : _ _ _ _ = H& bolt head and a steel washer under the nut
g 3""A"#‘A""A“'A"'>A"'>A""A""A“"A"'#'\ — — — — — — — —
< »h =) S o 1 ST TS =) S
g [ e @ o o ] ) o, Y o ) Cl " W o, o
g SR o@—@——?@—o ife)i {OT O::lOl::Q ‘r— 10T r N C>:‘() —
-g ~A . @ =3 s T =3 =) =) =3
é & (=\|~A ~A' . "A‘ AN . Y L L L ~A' L - Al 4" b
E - - ° e ° . ° . N o ! ! ! 1o ! ! ! ! ! ! ! ! ! curl
| I AR T R R St IR 12 °°, - g 20"-0" long
9 3"'A"'A"'A“'A2h A'/.'A"'A"'A“'A"'A/-"'A *
;— ° ‘ ' L - L - L . - - L - L - L - L . /A L 1 \
3 5" 1 1 1 1 1 1 S
5 Reinforced concrete 49" / - ! ! ! ! S Lo S S Lo Lo —\—
E wall or bridge parapet - S BN Lo N N Lo S o T
© Y . C6" x %" rubrail 1 1 Bent plate rubrail 1 1 Edge of pavement or ground line | 1 S
#5 x 6" expansion Wood blockout See Standard 617-29 See Standard 617-29 N at face of rail as applicable. N U.S. DEPARTMENT OF TRANSPORTATION
s anchor bolt (typical) 0od biockout FEDERAL HIGHWAY ADMINISTRATION
< attached to rubrail TN TN TN TN TN TN TN N FEDERAL LANDS HIGHWAY
n ; " , . , . , ' , ' , , , ! . , . \
g sté? ;gn)zlgrdbgét%ZQ : | o : Do Lo Lo U.S. CUSTOMARY STANDARD
- 1 2 3 L4 5 6 7 8 G4 W-BEAM GUARDRAIL
§ 777777777777777 #5 xilié’;"guardrai/ bolt and rece:sisifin‘./t 77777 CONNECTION TO STRUCTURE
38 with a rectangular plate washer under the SAFETY SHAPE FACE
g8 ELEVATION bolt head and a steel washer under the nut. WOOD POSTS
§ STANDARD APPROVED FOR USE --/---- STANDARD
2 NO SCALE REVIgi[/i:Fr: 9/2013 617-27




SHEET

\
\
\
: STATE PROJECT NUMBER
‘ Secure block from
\ Steel spacer tube rotation with 16d
Tube flush i i
| 300 W/ barrier See Standard M617-29 galvanized nail
| 50, 100 , 100 50 .
‘ N s . Concrete barrier 180 x 100 block. Z:a"y/oe'l’;;t::tsw beam
: Concrete barrier l \ See Standard M617-29 NOTE:
| R y T g%rsgglgkgﬁis.‘l dr iy 1. Posts 1 through 5 require an additional hole to
| @ - S i attach lower wood blocks and/or rubrail.
| ‘ 28 mm dia. et Y . .
| R | holes (typ.) S : — Single bent plate rail 2. Center drill wood blocks for rubrail located on
| Q ®— @'f S\ ‘ element for rubrail 2 posts 1 through 4. Secure blocks to posts 2 and 4.
| ™ ‘ e g post 1 thru post 4 1 Secure rubrail and blocks to posts 1, 3, and 5
(=) | | | N n . A
‘ a ‘ ) Pl ‘ g N\ using M16 carriage bolts.
\ ~ o N
— [w) b [« .
: <) CT) N ® . N )zlé%'t?e?r 3. Do not bolt W beam to posts and blocks at
| ™ A posts 2 and 4.
77 e - = —
| \ [ et i — ‘ — ‘ ) )
| 16 thick steel plat o - I 1 ! 1 ! 4. Reinforced concrete wall or bridge parapet must be
| mm thick steel plate ﬁwv s “Nv ~ capable of developing a 265 kN pull out strength.
| } ) - y 1 : ‘ 1 150 x 200 x
| - e — e 1830 post. 5. Furnish hardware in the metric sizes shown.
| Posts 3 thru 9 Equivalent U.S. Customary sizes may be used
| BEARING PLATE Wood blockout oY 200 x 200 x 2290 post. A when metric sizes are unavailable.
‘ See Standard M617-29 : L~ Post1and2 : :
: 6. Dimensions without units are millimeters.
L L,
\
: M22 x 350 H.S. hex bolts with SECTION A-A SECTION B-B SECTION C-C SECTION D-D
‘ bearing plate or an approved
‘ Concrete insert anchor assembly.
| Two nested W beam rail elements ‘ Single W beam rail element
| 475 Guardrail blocks not shown for clarity
: 292 475 ‘ 475 ‘ 475 ‘ 475 950 ‘ 950 ‘ 950 ‘ 950 . Standard post
| ‘ ‘ ‘ F section
\
| C Bent plate rubrail D
150 x 200

| |—>- See Standard M617-29. |—>-
| Fi
\
\
\
\
\
| R — o E . ‘
‘ il [ S \ : : : ‘ e/ e . ‘ }
| £
‘ 5 > Steel spacer tube > > >
| % A See Standard M617-29 B C PLAN D
\ c
: i Pay Limits Connection to Structure _,_Pay Limits Guardrail
| g 576 1429 145 System G4
l R 3 2100 |
| s : < M16 x 460 guardrail bolt and recess nut

5 T / < g
: 2 cgrrlrr?égfor mﬁ with a rectangular plate washer under the Back-up plate

© [S) el
| = — — — . . _ . — —r Ni bolt head and a steel washer under the nut
: ?ég P "A'¢"A‘ ‘.A'crA'crA' A A A s ‘iA'\'A\ e — — — = — — — _—
| ] R - = o] —ro1 e — —A—# ~ =

~ - o o ! o o [ o o
| 2 > ©
| S| 18l . . - - P s R s R = = ] ] ] ]
\ 2 - tg . ‘b’ ° . LIOO | | 10 ! , , ' , , , \| 100 curb
| 3 " }b SRR Y |o©: : : oy L 1 /6.1m/ong

o N ry o N a0 rS o rS o rS *
| IS A B N B = - 3 -

! L . L . D . . . L . L . D . L \

| z
| Z 1 1 RN
| K Reinforced concrete 1245 ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! AN
| = wall or bridge parapet - e N\ ' ' -\ —\r ' ' —\r ' ' L9 .
\ £ . ' ' . ' ' . ' ' | !

H ) C150 x 12.2 rubrail ‘ 1 Bent plate rubrail 1 1 Edge of pavement or ground line T
: M16 x 150 expansion Wood blockout See Standard M617-29. v See Standard M617-29. v at face of rail as applicable. '
‘ anchor bolt (typical) . U.S. DEPARTMENT OF TRANSPORTATION
‘ s attached to rubrail T N T T B T N o FEDERAL HIGHWAY ADMINISTRATION
‘ z with M10 x 75 bolt ! 1 ! 1 ! ! ! ! ! ! ! ! ! ! ! ! FEDERAL LANDS HIGHWAY
: <Or See Standard M617-29 7 5 3 ! 4 ' 5 . 6 . 7 | 8 1 METRIC STANDARD
| , | o G4 W-BEAM GUARDRAIL
| 3 M_ltg X 33(% guar/drai//bto/t anc;’recescsi nutl;7 CONNECTION 7O STRUCTURE

o with a rectangular plate washer under the SAFETY SHAPE FACE

| Sy
: £ ELEVATION bolt head and a steel washer under the nut. WOOD POSTS
| § NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
| g e o M617-27
\
\
|



c:\myfiles\pw_production\dms67487\Standard_617-28.DRAFT.dgn [USC]

30 September 2013 10:59 AM

6" x 8" x 14" long

STATE PROJECT

SHEET
NUMBER|

12" Tube flush Steel spacer tube routed wood blockout
w/ barrier See Standard 617-29
2" 4" 4" 2" Concrete barrier Concrete barrier 71 x 4" block. Z:avlyloe,;eerfvteegtsw beam .
See Standard 617-29 NOTE:
I=_1i h
N : ;%rsgglgkgﬁis;, | 1. Posts 1 through 5 require an additional hole to attach
N } o \ lower wood blocks and/or rubrail.
s N}N ‘ ‘ ] Single bent plate rail X 2. Offset drill wood blocks for rubrail to sit squarely on
NRN ) ®O— Q- ‘ element for rubrail &N the post flange on posts 1 through 4. Secure blocks
~ =N‘ | C?‘\ , g — post 1 thru post 4 N to posts 2 and 4. Secure rubrail and blocks to post
;\j \ N— 1%" dia. - - N 1 N flange on posts 1, 3, and 5 using #5 carriage bolts.
) — holes (typ. P L s .
N o (typ-) ” s @ N 1:10 or 3. Do not bolt W beam to posts and blocks at posts 2
N [ . N flatter i
YNy st - and 4.
\ "o e /Jl ] /Jl ! 4. Reinforced concrete wall or bridge parapet must be
5 & " " . .
%" thick steel plate s N capable of developing a 59.6 kip pull out strength.
. ) " I ’ W6 x 9 x
e —\——  6'-0" post.
Post 3 thru 9
BEARING PLATE Wood blockout. ' ; W8 x 13 x 7'-6" post. oo
See Standard 617-29 ' Post1and?
#7 x 13%" H.S. hex bolts with SECTION A-A SECTION B-B SECTION C-C SECTION D-D
bearing plate or an approved
Concrete insert anchor assembly.
Two nested W beam rail elements ‘ Single W beam rail element
o 17%" Guardrail blocks not shown for clarity
12n | 18%"  18%" 18%" 18%" 374" L 374" L 374" A 37%" __ Standard post
‘ ‘ section ‘
Bent plate rubrail
- A - B . C See Standard 617-29 » D 6" x 1"

T

N

Steel spacer tube
See Standard 617-29

PLAN

Pay Limits Connection to Structure

|_>_D

_ Pay Limits Guardrail

- -l
23" 57" 6" System G4
831/2"
; 2o #5 x 10" guardrail bolt and recess nut
Zg,’;’:ég?ér Mr with a rectangular plate washer under the Back-up plate
: ‘ Cr ~ = & bolt head and a steel washer under the nut
‘A g ‘A . ‘A . . . .A . .A . ‘A . ‘A . ‘A . .b [ —~
P 'A'#A' I - I R A 'A'\ — — — — — — — —
N =) =) _ I o 7 =) [=) (=)
e @ o o ] i o ¥ o ) . ¥ W o, o
L TE e o] oL oL = Ole— = —0—
: o @ =) =) =) =) = =
SN e e e o O o o L A 4" curb
D B e © ° o g 20"-0" long
3_ . A AN . - Y Ay Ay E’\ Y L . A A A \
) Lo Lo R
Reinforced concrete 49" Lo Lo Lo - Lo Lo N\
wall or bridge parapet =N =N =N -\ =N =N 9
Wood blockout C6" x %" rubrail Bent plate rubrail #5 carriage bolt with Edge of pavement or ground line -
#5 x 6" expansion attached to rubrail See Standard 617-29 See Standard 617-29 nut and washer (typ.) at face of rail as applicable. ! U.S. DEPARTMENT OF TRANSPORTATION
anchor bolt (typical) with #3 x 3" bolt SN N N N - A A - FEDEPF@E Eiég[lVL\x'\\l(DASDFI\‘/IIIGI\IFI'a'IFARYATION
See Standard 617-29 Do Do Lo Lo Lo Lo Lo Lo
1 Lo Lo U.S. CUSTOMARY STANDARD
1, 2 3 4 5 6 7 8 G4 W-BEAM GUARDRAIL
‘ CONNECTION TO STRUCTURE
SAFETY SHAPE FACE
STEEL POSTS
ELEVA TION STANDARD APPROVED FOR USE --/---- STANDARD
NO SCALE :
REVIgi[/iFr: 9/2013 617-28




SHEET

STATE PROJECT NUMBER|
150 x 200 x 360 long
300 Tube flush Steel spacer tube routed wood blockout
w/ barrier See Standard M617-29
20 100_ 100 50|  Concrete barrier Concrete barrier 180 x 100 block. Z"avly/oer/;;tgrclitsl/l/ beam
See Standard M617-29 : NOTE:
R — I ;%rsgglgkgﬁis;, G- 77777 iy 1. Posts 1 through 5 require an additional hole to attach
o- S \ NN lower wood blocks and/or rubrail.

8 ‘ o > | ! ] | — Single bent plate rail ‘ 2. Offset drill wood blocks for rubrail to sit squarely on
N O— Q- N ‘ S element for rubrail 3 the post flange on posts 1 through 4. Secure blocks
Mo | C?‘\ R g o Py post 1 thru post 4 0 to posts 2 and 4. Secure rubrail and blocks to post

A \ N— 28 mm dia. S ; n ) ! EN 0 flange on posts 1, 3, and 5 using M16 carriage bolts.

— holes (typ. ChL = . .
[} © (typ.) s S| @ S S N 1:10 or 3. Do not bolt W beam to posts and blocks at posts 2
N \ Lt N L N flatter and 4
LI N b I _/// ’
\ i - L ) L . ; . 4. Reinforced concrete wall or bridge parapet must be
16 mm thick steel plate . N N capable of developing a 265 kN pull out strength.
. y o . " . : W150 x 13 x . . o
N —\—— 1830 post. 5. Furnish hardware in the metric sizes shown.
‘ Post 3 thru 9 Equi\(ale_nt U.S. Customary sizes may be used when
BEARING PLATE Wood blockout. T ﬁ/ W200 x 19 x 2290 post. T T metric sizes are unavailable.
- u ; Post 1 and 2 v
ost Lan 6. Dimensions without units are millimeters.
M22 x 350 H.S. hex bolts with SECTION A-A SECTION B-B SECTION C-C SECTION D-D
bearing plate or an approved
Concrete insert anchor assembly.
Two nested W beam rail elements ‘ Single W beam rail element
445 Guardrail blocks not shown for clarity
300 475 ‘ 475 475 475 950 ‘ 950 950 950 Standard post
‘ ‘ section

Bent plate rubrail

|—> p |—> B |—> c See Standard M617-29, |_> D W150 x 13
L

|
I 1 hN

Steel b ‘
LA S o720, LaB L€ PLAN Lo

g
=
f=
i Pay Limits Connection to Structure _,_Pay Limits Guardrail
g 576 1429 145 System G4
2 - 2100
oo}
S - -
N ; L) M16 x 255 guardrail bolt and recess nut
9, Zgﬁ,ﬂéﬁfér Mr with a rectangular plate washer under the Back-up plate
= — — — un _ _ _ _ &r - L(Qi bolt head and a steel washer under the nut
J.(gg p ‘A'¢"A‘ L 2 2 2 2 s = \A\l — — — — : — — — —
n o ¢‘ ,,,,, . - - OH H@ . . — — . . - - . . — — . OH ch
P . @ =~ S T =) I o i i
% b -F 00— —=—— ifeli :mﬁ :I;OJ_LI m ; - :Iw% ‘(‘ \\ Q
~ B o o ! v o o ! ! [ [ ! ! [ [ ! ! [ [ ! El o !
2 =l ©
o 1R B i N = = N == N == T T T T
] I AT P = o — — = — 100 curb
E 1 /% > bl 'gI‘; p{* | | 109 ‘ ‘ o ‘ ‘ 1@ 1| /6.1mlong
I N b R 2 M| a 2 s s 2 1 T T T 71 * T 71 T ¥
Qi - 2 = N S S > IS
g- L L D . L L D L
g b RV
= Reinforced concrete 1245 Lo Lo Do Lo Lo Do Lo N
s wall or bridge parapet N B v -\ — N\ N . 9
% Wood blockout C150 x 12.2 rubrail N Bent plate rubrail M16 carriage bolt with Edge of pavement or ground line -
M16 x 150 expansion attached to rubrail See Standard M617-29. See Standard M617-29 nut and washer (typ.) at face of rail as applicable.
anchor bolt (typical) with M10 x 75 bolt. R — — N\ SN SN - - N N U.S. DEPARTMENT OF TRANSPORTATION
z See Standard M617-29 o o o o N o o o FEDERAL HIGHWAY ADMINISTRATION
3 Lo Lo
= L o METRIC STANDARD
- 1 2 3 4 5 6 7 8
- C G4 W-BEAM GUARDRAIL
g CONNECTION TO STRUCTURE
8 SAFETY SHAPE FACE
; ELEVATION STEEL POSTS
§ NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
- e o M617-28




SHEET

STATE PROJECT NUMBER|

Cut flange, bend
and weld as shown

NOTE:

1. Attach rubrail end flush with sloped tow of safety shape.
Shop fabricate the C6 x 8.2 rubrail end to be consistent
with the slope of safety shape. Both clockwise and
counterclockwise fabrications may be required.

| 11"

2. Dimensional tolerances not shown or implied are intended to
be those consistent with the proper functioning of the part,
including its appearance, and accepted manufacturing practices.

PLAN

Splice bolt slots
o 4"x 1%" (typ.) Steel plate 11%" width n
. o r s by %" thickness Post bolt slots - - 5"
'ﬁl m\”i %" x 2%" (typ.) 34" - -
~

i
"
b
|

|

|

|

|

|

|
s
|

|

|

|

|

|

|

)
%

41/211

;\RT o 5,, ‘ 31_11/211 ‘ 31_11/211 ‘
N

41/2"

ELEVATION /
1" dia. 24"
BENT PLATE RUBRAIL %" dia. hole

FRONT SIDE
%16"

( ) WOOD BLOCKOUT FOR RUBRAIL
ON CONCRETE SAFETY SHAPE

6”
11/8"

i

Concrete safety shape Steel spacer tube,

;/qggdg{'e Igoxgg ,l'van/zed pIpe, 1, 4 Cut flange, bend

Trim flanges, bend and weld as shown
web as shown and weld W

/ 3" dia. hole

6"

A

N
7

8" 5"

Varies

X —
PLAN — ‘ ”\NTLL
TOP

FRONT

11/211

o Bend
- Drill %" dia. hole (typ.) [ Drill " dia. hole (typ.) RUMB/(I)?,(ZIL')L BOLIegl;(E)gLT :ggTS

%" carriage bolt and nut Nested W beam ) e T T T
with rectangular plate rail elements I ? CE'/ / T q}f‘“ﬁ %
IS

washer under to bolt head Y B I R R T Y

‘ [ ‘ | U.S. DEPARTMENT OF TRANSPORTATION
1" FEDERAL HIGHWAY ADMINISTRATION

STEEL SPACER BLOCK 5n 313 - 16 o - FEDERAL LANDS HIGHWAY
U.S. CUSTOMARY STANDARD

Sl G4 BEAM GUARDRAIL
ELEVATION CONNECTION TO STRUCTURE
C6X8.2 RUBRAIL SAFETY SHAPE FACE RUBRAIL

STANDARD APPROVED FOR USE --/---- STANDARD

NO SCALE REVISED: 617-29

DRAFT:  9/2013

c:\myfiles\pw_production\dms67487\Standard_617-29.DRAFT.dgn [USC]
6"
3”

11/211
N

26 September 2013 9:44 AM




c:\myfiles\pw_production\dms67487\Standard_617-29.DRAFT.dgn [Metric]

26 September 2013 9:44 AM

C150 X 12.2 RUBRAIL

CONNECTION TO STRUCTURE
SAFETY SHAPE FACE RUBRAIL

NO SCALE STANDARD APPROVED FOR USE 3/1996

REVISED: 1/1998
DRAFT: 9/2013

STANDARD

M617-29

|
|
|
STATE PROJECT NSUI—ILIEBEI-EFR :
|
|
Cut flange, bend |
and weld as shown :
|
NOTE: |
1. Attach rubrail end flush with sloped tow of safety shape. ‘
= Shop fabricate the C150 x 12.2 rubrail end to be consistant :
'\Il\ﬂ 915 with the slope of safety shape. Both clockwise and |
‘ counterclockwise fabrications may be required. |
|
- 2110 -] 13 2. Dimensional tolerances not shown or implied are intended to |
be those consistent with the proper functioning of the part, |
PLAN 13 including its appearance, and accepted manufacturing practices. :
\ / ) 3. Dimensions without units are millimeters. :
|
|
|
3. |
Splice bolt slots |
50 20 x 25 mm (typ.) Steel plate 290 mm width |
n — ’f by 3.43 mm thickness Post bolt slots 140 |
L”l uw 20 x 65 mm (typ.) | |
|
T |
1 A 0 |
S [ L — T 7 I P k ,
y 0 n
[S) \ \ o n o |
w0l 125 950 \ 950 = = |
T T ~ ~ |
180 ‘
215 ' |
ELEVATION |
6 mm dia. hole |
BENT PLATE RUBRAIL |
5
FRONT SIDE |
5 ’* |
|
( \/ ) WOOD BLOCKOUT FOR RUBRAIL |
ON CONCRETE SAFETY SHAPE |
|
150 |
30 |
Concrete safety shape Steel spacer tube, i |
schedule 40 galvanized pipe, Ve Cut flange, bend / 20 mm dia. hole :
168.3 OD x 250 mm long Trim flanges, bend 6 and weld as shown | 150 | :
web as shown and weld W N ‘ |
<t |
/I »
B < | < g |
200 |125 ) § |
12 o > |
o)} l :
- |
st |
PLAN | 22 |
FRONT TOP |
" 50 Bend :
N Drill 20 mm dia. hole (typ.) Drill 13 mm dia. hole (typ.) WOOD BLOCKOUT FOR |
Twh | RUBRAIL ON STEEL POSTS |
M16 carriage bolt and nut Nested W beam 1 Il T 71 " /// ‘“F—/¥VDMV1V J /& 1 |
with rectangular plate rail elements 3 ﬂf T $/ / * q}—'ﬁ A |
washer under to bolt head ™ T e ‘ - = |
\ \ [
LQT 50 25 U.S. DEPARTMENT OF TRANSPORTATION :
< FEDERAL HIGHWAY ADMINISTRATION
STEEL SPACER BLOCK ) 125 990 460 75 FEDERAL LANDS HIGHWAY :
1675 METRIC STANDARD |
G4 W BEAM GUARDRAIL |
ELEVATION |
|
|
|
|
|
|
|
|
|



	FLH Standard Drawings
	617-25: G4 W-Beam Guardrail Connection to Structure Vertical Face Wood Posts

	Metric
	CFLHD 
	EFLHD

	WFLHD

	US Customary
	CFLHD

	EFLHD

	WFLHD


	617-26: G4 W-Beam Guardrail Connection to Structure Vertical Face Steel Posts

	Metric
	CFLHD 
	EFLHD

	WFLHD

	US Customary
	CFLHD

	EFLHD

	WFLHD


	617-27: G4 W-Beam Guardrail Connection to Structure Safety Shape Face Wood Posts
	Metric
	CFLHD 
	EFLHD

	WFLHD

	US Customary
	CFLHD

	EFLHD

	WFLHD


	617-28: G4 W-Beam Guardrail Connection to Structure Safety Shape Face Steel Posts
	Metric
	CFLHD 
	EFLHD

	WFLHD

	US Customary
	CFLHD

	EFLHD

	WFLHD


	617-29: G4 W-Beam Guardrail Connection to Structure Safety Shape Face Rubrail

	Metric
	CFLHD 
	EFLHD

	WFLHD

	US Customary
	CFLHD

	EFLHD

	WFLHD




	NPS: 
	617-27c: 
	617-27e: 
	617-27w: 
	Region-c: 
	State-c: 
	Project-c: 
	M617-27c: 
	Sheets-c: 
	Region-e: 
	State-e: 
	Project-e: 
	M617-27e: 
	State-w1: 
	Project-w1: 
	M617-27w: 
	State-w2: 
	Project-w2: 
	617-26c: 
	617-26e: 
	617-26w: 
	M617-26c: 
	M617-26e: 
	M617-26w: 
	617-25c: 
	617-25e: 
	617-25w: 
	M617-25c: 
	M617-25e: 
	M617-25w: 
	617-28c: 
	617-28e: 
	617-28w: 
	M617-28c: 
	M617-28e: 
	M617-28w: 
	617-29c: 
	617-29e: 
	617-29w: 
	M617-29c: 
	M617-29e: 
	M617-29w: 


